1. Explain the Law of demand and supply, with examples.
The law of demand and supply are interrelated to each other in a very close manner. As noted by Heakal (2016) the law for supply and demand is the most basic context to identified in a market economy. The term demand stands for ‘how much’ or the total quantity’ needed. The supply stands for the availability of the product or service as demanded by a consumer. In this context, the range of demand and the availability of the product or service, determines the price. This relationship is known as the demand and supply relationship, and has been illustrated well through the laws of demand and supply. The law of supply refers that the quantity of the total supplied goods under sale is liable to increase as there is a rise in the market price, and the same falls as the market price falls. As against this, the law of demand states that quantity of demanded goods is liable to fall as there is an increase in the market price, and vice versa. The Figures noted below clarifies the aforementioned principles:
Figure 1 Law of Demand  
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Figure 2 Law of Supply
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In Figure 1 A, B and C represent demand curve, where each point on the curve is reflecting a direct connection with the demanded quantity ‘Q’ and the market price ‘P’. Thus, at A, Q1 and P1, at B it has Q2 and P2, and at C it has Q3 and P3. The curve for demand relationship also refers to negative connection between the demanded quantity and the market price. Higher market price with lower demand in quantity is at ‘A’, and lower market price with the more the demand of goods in ‘C’.

In Figure 2 A, B and C represent the supply curve, where each point on the curve is reflecting a direct connection with the supplied quantity ‘Q’ and the market price ‘P'. Thus, at A, Q1 and P1, at B it has Q2 and P2, and at C it has Q3 and P3.  
